Matura jezyk angielski 2020 czerwiec (poziom rozszerzony)

Czas stuchania: od 16:37

Zadanie 3, (0-5)

Uslyszyvsz dwulromie wywiad z akrorem, keory zagral role naukowca. Z podanych
odpowiedzi wybierz wlasciwa, zgodna z wesecia nagrania. Zakresl jedna z hirer: A, B, C
albo D.

3.1. Geoffrey Rush finally agreed to play the role of Einstein because
A. the project he was working on with his wife was cancelled.
B. he managed to reschedule lis other assignments.
C. the shooting of another film had ended earlier.
D. the duwector of Gendus postponed the filnung.

3.2. While preparing for the role, Rush learned that
A. Einstein had sometimes dressed in an eccentric way.
B. Einstein's financial situation had been secure.
C. Einstein’s adolescence had been a troubled one.
D. Einstein had contributed to the creation of the atomic bomb.

3.3. To transform Rush into Einstein, the make-up ream
A changed the shape of his nose.
B. gave him fuller evebrows.
C. hid some wrinkles around his eves,
D. made him wear wigs throughout the film.

3.4. To prepare for filming, Rush and Flvun
A. met scientists nvolved in research on Einstem.
B. watched films showing Einstein’s private life.
C. were mstructed by (he same speech coach.
D. acted out their roles on Skype.

3.5. When answering the last question, Rush
A. explains the value of Einstein’s scientific achievements.
B. talks about the ridicule Einstein was exposed to.
C. reveals how Finsfein’s weaknesses affected his relationships.
D. points out some features Einstein had in common with ordinary pecple.
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